CaHKT-MeTepbyprcknii HaLMOHaNbHbIM UCNEeA0BaTEIbCKUN YHUBE PCUTET MHPOPMALUOHHbBIX TEXHOIOTUIA,
MEXaHUKM 1 ONTUKU

dncunnnmnHa:
TecTMpoBaHMe nporpammHoro obecne4yeHms
NlabopaTtopHas pabota Ne 4

TecT Kelcol

BbinonHuna: ct. rp. 3121,
fopbyHoBaT. A.

Mpenopasatens: [MaBnosckaaT. A.



3apaHue. BapuaHT Ne 13.

CocraBuTb Habop TecT-KelcoB ana TecTupoBaHua npunoxeHua ROOTS.EXE, paccmaTpuBaemoro B Kypce
NabopaTopHbIx 3aHATMIA. OPOPMUTbL TECT-KENCbI COFNACHO NPUME PaM, NPUBEAEHHBIM HA NEKUMSAX.
KonunyectBo TecT-Kelicos: 4—6.

ID R-1
Name Icon Maximize
Test case description Verification of the job maximizeicon
PreConditions ROOTS.EXE launched
Action Click O
Expectedresult Increased window tofull screen
Test Result Passed
ID R-2
Name Button Cancel
Test case description Verification of the job button “Cancel”
PreConditions ROOTS.EXE launched
Action Click “Cancel”
Expectedresult Window closes
TestResult Failed
ID R-3
Name The resulting value
Test case description Verification of resulting value
PreConditions 1) ROOTS.EXElaunched
2) enter1-st coefficient: 1
3) enter2-ndcoefficient:2
4) enter3-rd coefficient: 1
Action Click “OK”
Expectedresult Window closes, open new window with 1-st rootand 2-nd root; 1-stroot =
-1, 2-nd root=-1
TestResult Passed
ID R-4
Name Button “OK” in window “Roots of trinomial”
Test case description Verification of the job button “OK” in window “Roots of trinomial”
PreConditions 1) ROOTS.EXElaunched

2) Enter 1-stcoefficient
3) Enter 2-nd corfficient
4) Enter 3-rd coefficient

5) Click “OK”
Action In new window “Roots of trinomial” click “OK”
Expectedresult Application quits

TestResult Passed




ID R-5

Name Icon Exit

Test case description Verification of the jobicon exit
PreConditions ROOTS.EXE launched

Action Click X/

Expectedresult Application quits

TestResult Failed

Name — Ha3BaHMe TecT-Kekca

PreConditions — HayanbHble ycnoBuA, AeUCTBMA ANA TeCT-Kelca
Action — geicrsue

Expected Result— Oxngaemblit pesynbTtat

Test result— pe3synbraT Tecra (passes —npoiaeH, failed —npongeH He yaayHo)



